
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 69

83 m = 8300 cm

86 hm = 86000 dm

74 m = 7400 cm

88 dam = 880000 mm

78 hm = 78000 dm

83 dam = 830000 mm

40 m = 400 dm

30 dam = 3000 dm

54 hm = 540000 cm

23 hm = 23000 dm

5000000 cm = 50 km

360000 m = 36000 dam

300000 dm = 300 hm

81000000 cm = 810 km

700000 m = 7000 hm

6600000 dm = 6600 hm

640000 mm = 64 dam

760000 cm = 760 dam

750000 dm = 7500 dam

18000000 cm = 180 km

75 m  et 30 cm = 7530 cm

29 m  et 22 cm = 2922 cm

38 dam  et 16 cm = 38016 cm

63 hm  et 56 dm = 63056 dm

92 m  et 43 dm = 963 dm

47 dam  et 71 mm = 470071 mm

4 km  et 94 dm = 40094 dm

75 m  et 49 mm = 75049 mm

11 hm  et 62 cm = 110062 cm

13 hm  et 98 dm = 13098 dm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :

https://www.toupty.com

https://www.toupty.com/

